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Did we indeed say, the entire damage — JIMARP RPIOI DD TN

OVERVIEW

The &7m3x asked that we should derive through a 1"p from 17 that %371 @ should be
liable to pay for damages caused in the 7"77. The X3 answered that the P09
clearly states' anx 77wa w2y, limiting its obligation to a P17 MW, but not in the
7"77. The &3 responded; I did not mean that it should pay a "1, but rather only a
1" like 17p. The exclusion of 71X 77w is that it cannot be liable to pay a 7"772 w"y,
but not that there is no liability at all. n1901n explains this response.

nooIN asks:
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And if you will say; but perforce you must say that the exclusion of 7722 9w2)
X comes to exempt 1" W completely from paying in the 71"77, for how can you
derive that it should pay a w''1?!

mooIn responds:
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This is no refutation, for if not the 7105 of IR 77W2 7¥2) it would automatically
pay a w''1in the 2''719 without a ''p.

SUMMARY
Without the exclusion of 71X 77w, we would assume that 2" W pays a 7"772 "1

THINKING IT OVER
Is there an explanation why in the question Mdoin cites (only) the word w21 (but
not INX 77w31), and the answer he cites (only) the words 7nX 7722 (but not 7¥21)?

!'9,23 (ovown) mnw.

% See (however) (Xa99) *xr1 7"7 " 0.

3 The 1"p from 17 can only make 71" pay a 1"1 in the 2"77 (just as 179 pays); but not a w"1 (for 191 1777 12 X237 17).
Therefore the exclusion of 7¥21 teaches us that it is exempt from paying even a 1"1. It is not necessary to exclude
2" from paying a "1 for we never anticipated that it should pay a ¥"1 on account of the 1"p.

*If the 770 would not write nX 77wa regarding 1" we would assume that 2" pays a @"1 both in pr37 mwn and in
the 7"77. However since the 710 excludes 7"W from paying in the 1"77 (by writing nX 77w31), the Jwpn argues that
nevertheless it should still by a 1"1 for it can be derived through a 1"p from 17p. The 7wpn was aware of the exclusion,
but argued that nevertheless 7" should still pay a 7"772 1"1. And the exclusion is there so it should not pay a w"1.
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